Determineren oef. 2

Het werkwoord Ade (prs. /ipf./ aor./ fut.)

A. Geef de gevraagde vorm

1. 3e sg.ind. aor. Pass. < Ao

2. 2°sg.ind. fut. Med. < Ao

3. 2esg.imp. aor. Act. < Mo

4. 1epl. ind. aor. Act. < Mo

5. gen. pl. F. ptc. aor. Med. <AV

6. 2e sg. ind. ipf. Act. < Mo

7. inf. fut. Med. <Aoo

8. gen.sg. N.ptc. prs. Act. <AV

9. 2epl. imp. aor. Act. < Ao

10. dat. sg. F. ptc. aor. Pass. < AVw

B. Determineer de volgende werkwoordsvormen

1. Aeode (2x) 6.
2. éNboaTo 7.
3. Auoapeve (2x) 8.
4. AoouoLy (3x) 9.
5. &Auoav 10.
Antwoorden 2A

1. éaudm 6.
2. Aucou 7.
3. Aucov 8.
4. Ehucapev 0.
5. AUCAUEVKY 10.

Antwoorden 2B
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2e pl. ind. / imp. prs. Med. < AVw

3e sg. ind. aor. Med. < AV

dat. sg. M. / N. ptc. aor. Med. < AV

3e pl. ind. fut. Act. / dat. pl. M. / N. ptc. fut. Act. < ADw
3°pl. ind. aor. Act. < AVw

2e sg. imp. aor. Med. / inf. aor. Act. < AVw

2e sg. ind. ipf. Med. < AV

2e sg. ind. aor. Med. < Ao

3e pl. ind. aor. Pass. < A0

10. 3e sg. ind. fut. Act. / 2e sg. ind. fut. Med. < AV
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